FUBAG

BS 9500 D ES (568205)

H(;I}/l:p KOJ HaNMeHOBaHHe K0JI-BO
1 2.63.01.01756 oont M6x22 8
2 2.50.01.005600 KPBIIIKA TOJIOBKHU LIUIMHApPA (TpaBasi) 1
3 2.60.09.002000 MPOKJIA/IKa KPBIIIKY KiaraHa 2
4 2.50.09.001400 dukcarop KianaHa 4
5 2.50.10.000200 MPOKJIa/IKa BITyCKHOI'O KJIallaHa 2
6 2.50.09.000600 MPY’KUHA KIIallaHa 4
7 2.50.01.005700 KPBIIIKa TOJIOBKH IIWJIMHpA (JIeBast) 1
8 2.50.09.000400 MIpy>KUHA KJ1araHa 4
9 2.51.07.001100 poOKa MacI03aTMBHOM TOPIIOBHHBI 1
10 2.50.04.001200 BBIIYCKHOH KJIaraH 2
11 2.50.03.001700 BITYCKHOM KJIamaH 2
12 2.53.06.001800 cBeua 3axuranus F7TC 2
13 2.50.02.003800 KpIOK 2
14 2.50.02.003900 TOJIOBKA IIMWJIMHpa (TIpaBast) 1
15 2.60.08.005700 IIPOKJIAJKA TOJIOBKY LIMIMH]Ipa 2
16 2.63.01.00405 mrupt G12x20 4
17 2.50.07.001400 maTyH 4




18 2.50.05.001400 KOPOMBICIIO KJlamaHa B cOope 4
19 2.50.06.000200 OCHOBaHHUE KOpOMBICIIA 2
20 2.63.01.02033 6ont GB/T 5789-1986-M10*80 8
21 2.63.01.02494 6ont GB/T 5789-1986-M6*1 2
22 2.50.01.005800 KOXYX (JIEBBIH) 1
23 2.50.02.004000 roJIOBKA IIMJIMHApA (JIeBast) 1
24 2.63.01.02024 6oat 37-M6*25 1
25 2.50.01.006700 KOXYX (TIpaBblif) 1
26 2.50.09.000700 MPY’KUHA KJIallaHa 2
14
H(r)yrfp KO/ HaNMEeHOBaHMe KO0JI-BO
1 2.63.01.01530 6ot M8x50 4
2 2.50.16.002500 KOJUIEKTOP BILYCKHOM 1
3 2.60.02.002300 MPOKJIA/IKa BITyCKHOT'O KOJUIEKTOpa 2
4 2.60.04.002600 MpOKJIaJiKa KaporopaTopa 3
5 2.50.13.003200 TpyOKa camyHa 1
6 2.55.02.002700 aganTep kapOroparopa 1
7 2.54.03.003700 Jpoccelib 85Smm 1
8 2.62.01.011400 phIyar apoccens 1




9 2.55.01.022300 KapOroparop 1
10 2.62.01.010800 3aKUM NPYKUHHBIN @18 2
11 2.50.11.014100 KOPITyC BO3AYLIHOTO (puimbTpa 1
12 2.63.01.03011 601t M6x90 4
13 2.63.01.02026 6ot M6x%30 4
14 2.50.16.002300 BaJIMK BO3YIITHOTO (DHUIBTpa 1
15 2.50.11.014101 KapTPUIK BO3IYITHOTO (PHIIETPA 1
H(:y{fp KO/ HaNMeHOBaHMe KO0J1-BO
1 2.51.02.001400 HiecTepHs CTadMIM3aIi 000POTOB 1
2 2.63.01.02036 6ont M6x16 2
3 2.55.01.019400 HAaCOC MaCJISTHBIN 1
4 2.63.01.02041 maffggiz/ ; 21;11'202' 1
5 2.60.01.003600 MPOKJIA/IKa KPBILIKU KapTepa 1
6 2.63.01.02030 6ont GB/T 5789-1986-M8*16 3
7 2.55.01.019600 SKpaH calyHa 1
8 2.51.05.003600 KpBIILIKa KapTepa 1
9 2.63.01.00391 6ot M8x50 9
10 2.51.06.003100 1y 1




11 2.09.01.005800 O-xomnbro ¢13.2%2.65 1
12 2.51.17.004300 canbHUK P38XP58%8 1
13 2.63.01.01047 mrupt G10*12 2
H(z}q:p KOJ HaNMEHOBaHHe K0J1-BO
1 2.51.16.005200 pacrnpeaBan 1
2 2.63.01.02039 maff‘i‘%ﬁ/ ; 32411-/26(;02- 1
3 2.51.15.025000 KoJsieHBaJI 35.5mm 1
4 2.51.12.003600 HIaTyH 2
5 2.51.10.000100 KOJIBIIO CTOTIOPHOE 4
6 2.51.09.001300 Tnajel MopLUIHEBOU 2
7 2.51.08.002200 MOpLIEHB 2
8 2.51.11.003200 Ha0Op MOPIIHEBBIX KOJIeIl 2




HOMep

w/n KO/l HAUMEHOBaHHe KOJI-BO
1 2.63.01.02023 raitka M20x1.5 1
2 2.53.02.006300 KaTyIIKa 3aKUTranusl (JeBas) 1
3 2.62.02.008500 MJIaCTUHA JIOTIACTH 1
4 2.52.04.001900 KpbUIbYaTKa OXJIaXACHUS 1
5 2.53.01.007400 MaXOBHUK 1
6 2.63.01.01934 oot M6x30 4
7 2.53.02.006400 KaTyIIKa 3aKUranus (mpaBasi) 1




H(r)ll>’l:p KO/ HaMMeHOBaHHe KO0JI-BO
1 2.51.01.005900 Kaprep 1
) 5 63.01.02038 maii6oa GB/T 97.1-2002- )

' $14.2% § 22%2
oourt ciuBHO GB/T16674.2-2004-
3 2.63.01.02025 M14*15 2
4 2.63.01.02030 oont M8x16 2
5 2.63.02.015200 noamunauk 6003 1
6 2.50.05.001100 KOPOMBICIIO 1
7 2.63.01.00567 mrrudt O8x10 1
8 2.63.01.02028 oont M6x16 1
9 2.51.04.003300 JaTYUK Macia 1
10 2.63.01.02030 oont M8x16 2
11 2.63.01.02306 oont M6x25 8
15
g
HoMEp KO/ HaMMeHOBaHHe KO0JI-BO
n/n

1 2.50.01.006100 KOXYX T'OJIOBKM LIWJIMH/paA (IIpaBblii) 1
2 2.63.01.02494 oot M6%12 4

2.62.01.012900 XOMYT

2.55.01.019300 paguaTop 1




5 2.63.01.02306 60T M6%25 2
6 2.55.01.019500 GuIbTp MaCISIHbIN 1
7 | 2.55.06.018800 TpyOKa 99*(17*400mm 3
8 2.63.01.02026 60T M6X%30 3
KPOHUITEHH MacCIsIHOTO pajnaTopa
2.09.01.005700 2
N e 011.2%2.65
10 2.55.07.004000 3aKUM IPYKUHHBIN @14 2
32)KMM TOIIJIMBHOTIO IIIJTAHTa
.55.06.018900 2
12550 09%(17*450mm
12 2.62.01.012600 (ukcaTop mpoBoia 1
13 2.62.02.008400 IIPY>KHUHA MACIITHOTO Hacoca 1
14 2.06.04.035400 HIapuK cTajabHoOu 9.5 1
15 2.55.07.004500 00pyu ®12-020 2
Homep KO/ HaNMeHOBaHMe KO0J1-BO
n/n
1 2.51.03.001000 BaJI LIECTEPHHU 1
2 2.63.01.01567 maT GB/T 91-2000-1%6.5 2
3 2.51.17.002400 cajabHUK 8%14%*5 1
4 2.63.02.015700 noamunauk HK0808 2
5 5 63.01.02037 maitba GB/T 97.1-2002- 3
R $8.5% $ 17*1/65
6 2.54.02.004300 npyxuHa perymsaropa 116mm/5S0HZ 1
7 2.54.02.004400 MIPYy>KUHA PEryJIsATopa 1




8 2.54.02.005300 JpoccebHast NpyKrMHa Bo3BparTa 1
9 2.54.01.008900 MIPUBOJI BO3LYIIIHOMN 3aCIIOHKHU 1
10 2.54.03.002900 TATa 1
11 2.54.04.003100 JUSEEN 1
12 2.62.01.011200 Mpy>KUHA 1
13 2.63.01.02494 60T M6%12 3
Homep KO/ HANMEHOBaHHe KOJI-BO
n/n
1 2.63.01.02044 mmibka M6x102 4
2 2.63.01.02494 60T M6%12 3
3 2.52.06.002600 KOXYX (IIpaBblii) 1
4 2.51.17.004300 canbHUK P38XP58%8 1
5 2.63.01.02028 6oaT M6%16 2
6 2.63.01.02026 601TM6%30 1
7 2.53.07.001200 10000050301 (S0 1
8 2.63.01.02026 60T M6%30 1
9 2.50.10.002100 KPBIIIIKa CallyHa 1
10 2.50.10.002401 IJIaCTUHA calyHa 1
11 2.60.10.002800 MIPOKJIaJIKa KPBIIIKH CallyHa 2
12 2.50.10.002200 JKpaH camyHa lmm 1




HOMep

w/n KOJ HaNMeHOBaHHe K0J1-BO
1 2.55.07.003600 3aKUM MPYKUHHBIN (9.8 1
2 2.55.06.017700 (p4_5]fx<1$gl.{5r*T1%HST(I;SH*B($*15 2
3 2.55.06.017800 @4.51%21'152;(;131?(1;351{*552*25 1
4 2.55.01.005800 (GUIBTpP TOTUTMBHBIHI 1
5 2.55.06.017900 | nwtanr TorIMBHBIN (04.5%@8.5%240+40 1
6 2.63.01.02026 6ot M6x30 2
7 2.53.03.005100 KaTyIlIKa 3apsiaKu 1
8 2.63.01.02032 6ont M8x110 2
9 2.63.01.00329 mrupt O8x12 2
10 2.52.02.001700 ANEKTPOCTAPTED 1
11| 251.04.002500 C"eHHHﬁfggnggfomTEO 1
12 2.63.01.02016 raiika M5 1
13 2.63.01.02494 6ont M6x12 4
14 2.50.01.006000 KOXKyX T'OJIOBKH IFJIMHJIpA (JIEBBIN) 1




15 2.55.07.003800 3a)KUM IPYKUHHBIN O8 2
16 2.55.07.003600 3aKUM MPYKUHHBIA (9.8 5
~
-
4
= Sl
HOMep
w/n KO/l HAUMEHOBaHHe KOJI-BO
1 2.63.01.00291 raiika M6 6
) 7.52.01.102800 KPBIIIKA-TePICKTOP OXJIAXKICHUS 1
nBUTaTENs (TMpaBast)
3 2.63.01.02494 6ot M6x12 3
4 2.52.06.002500 KOXYX (JICBBIi) 1
5 2.63.01.02026 601t M6%30 2
6 2.63.01.02035 BUHT 4.2%20 2
7 2.52.01.096700 3acJIOHKa 1
3 2.62.01.010900 | TO7IOBKa pa30phI3ruBalolias pe3uHOBas )
(npaBas) @18x@10
9 2.55.01.018900 KPOHIITEIH TOIJIMBHOI'O HAacoca 1
10 2.55.01.015600 HAacoC TOIUTUBHBIN 1
11 2.63.01.02494 6ot M6x12 2




HOMeEp

w/n KO/ HANMMEHOBaHMe KOJI-BO
1 2.63.01.00570 oont -M6*12 8
2 2.56.07.011600 KPBITIKa 1
3 2.56.03.006101 IIETKU YTOJIbHbIE 1
4 2.62.01.002300 KOJIOJIKa KOHTaKTHas 1
5 2.62.02.009000 LITAHT U 4
6 7.63.01.02768 oonT CTaTK}[)?OCj]?g/g*116_524'2 2004 4
7| 263.000007s-1 | COmTPoropa BB S782-2000 I
8 2.63.01.00444-1 maiiba -GB/T 97.1-2002-10*30*4 3
9 2.63.01.01762 raiika GB/T 6177.2-2000-M10*1.25 6
10 2.56.05.001600 cynmnopt anbTepHaropa ¢270 1
11 2.56.03.006900 CTaTop U POTOP 1
12 2.63.01.02767 boat (1}\?1/3*13656,,‘71‘.‘225 2004 4
13 2.56.05.001700 KpBIILIKA [IEPEHAS adbTepHAaTOpa 1
14 2.63.01.01762 raiika /GB/T 6177.2-2000-M10*1.25 4
15 2.63.01.00287 raiika GB/T 6170-2000-M8 4




HOMep
KO HaNMEeHOBaHMe KO0JI-BO
n/n
1 2.63.01.01705 maitba GB/T 93-1987-08 4
2 2.63.01.00287 raiika GB/T6170-M8 4
3 2.60.03.001900 MPOKJIAKA Ty IIUTEINs 2
4 2.50.12.024400 [ITyIIATENb 1

N
o




HOMeEp

w/n KO/ HAaUMeHOBaHHe KOJI-BO
1 2.55.07.001000 3aKMM TOIJIMBHOI'O IUTAHTA 2
2 2.62.01.013300 nutadr roppupoBanusiii ¢ 10*800 1
3 2.55.06.019000 nwtadr 4.5*e8*900 1
4 2.55.08.000700 KHOITKA BKJI/BBIKII 1
5 2.63.01.01812 MPOKJIAJKA TOTUTMBHOTO Oaka 6*25%2 4
6 2.63.01.00914 6ont B/T 16674.1-2004-M6*25 4
7 2.55.05.091200 TOTUTUBHBIN Oak 1
8 2.55.05.024801 KPBIIIKa TOTUIMBHOTO 0aka 1
9 2.55.05.026001 buIbTp 1
.
|
N
[
H(r)yrfp KO/l HAUMEHOBaHHe KOJI-BO
1 2.57.04.039700 IJIACTUHA U30JIMPYIOIIas 1
2 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
3 2.57.04.029200 KOJIBIIO 2
4 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
5 2.63.01.01795 raiika GB6177-M8 2
6 2.57.04.039900 HaIpaBJIsIoIast 1
7 2.57.04.040100 HIapHUD 2




8 2.63.01.00291 raiika GB/T 6177.1-2000-M6 8
9 2.57.04.039800 KPBIILIKA BEPXHSISA 1
10 2.63.01.03032 BuHT GB/T 818-2000-M4*10 2
11 2.57.04.034300 pyukKa 1
12 2.60.10.003400 npokiagka 500*180 2
13 2.60.10.003500 npoxaaka 350%70 1
H(r)ylfp KOJ HaNMEHOBaHMe K0J1-BO
1 2.57.01.056000 pama 1
2 2.57.04.039600 MaHeNb 3aIHIg 1
3 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 8
4 2.57.04.039500 MaHeNb MepeHss 1
5 2.63.01.02766 raiika-6apamex GB/T 62.1-2004- M6 2
6 2.57.04.040200 riacTuHa Garapee 1
7 2.63.01.03021 00T mIacTuHbI OaTapeu 2
8 2.10.06.002400 3aXKHUM 1
9 7.56.10.008700 kabenb (-) alclﬁl)l(\)flr}lf;z/Tl()(l))Hon Oarapen 1
10 2.56.09.000500 akkymyisatop 36AH 1
1 7.56.10.008800 kabenb (+) akKyMyJISITOpHO# OaTapeu 1

650mm/10




12 2.57.04.039000 TJIACTUHA TIEPETHSS 1
13 2.63.01.01756 6oir GB/T 16674.1-2004-M6*12 4
7 -

HOMeEp

w/n KOJ HAUMEHOBaHHe KO0JI-BO
1 2.63.01.01808 oont GB/T16674.1-2004-M8*16 42
KOJIECO YHUBEPCAIBHOE C TOPMO30M

2 2.61.03.000100 100%32 2
3 2.61.03.000200 KoJeco Hanpasisroniee 100%*32 2
4 2.61.05.003600 TJIOIIAIKA KPETUICHUS KoJieca 4
5 2.63.01.00287 raiika GB/T 6170-2000-M8& 16
6 2.57.04.040000 pamMa HUKHSA 1
7 7 63.01.00767 6ont GB/T 16674.2-2004- )

M10*35*1.25




4 ] =N
it 5%% v “*" o '&v ,
1I Xt \ =
: % 5 1) 1 | |
i . ¢ ¥ o1

| & - . T

| | - i

; w ”

H(:y;p KO/l HAUMEHOBaHHe KOJI-BO
1 2.56.01.158100 naHesb B cOope 1
2 2.56.01.158001 KpBIIIKa NEepeIHEN MaHenu 1
3 2.56.01.158002 KJIeMMHHUK AC 4
4 2.63.01.00163-2 6ont GB/T 16674.1-2004-M5*16 2
5 2.56.04.000800 ABP 400V 1
6 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 12
7 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
8 2.56.01.158101 BbIKJTIOYaTens 3P/12A 1
9 2.56.01.158003 00T U raiika 3a3eMiIeHUs 1
10 2.56.01.072701 kieMMHHUK DC 1
11 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
12 2.63.01.00267 raiika GB/T 6170-2000-M4 6
13 2.56.01.042304 BUJIKA 3
14 2.56.02.001500 HITeKep 1
15 2.56.01.158004 npeaoxpanuTens 16A 3
16 2.62.02.000500 JIpoccenb Kabems 1
17 2.56.01.158005 mucrieit GDP-1 1
18 2.56.01.011901 3aMOK 3akuranus (0e3 KITrodeil) 1
19 2.56.01.158008 [IaHEeNb 1
20 2.56.01.158006 KpBIIIKa 1




21

2.56.01.158102

po3etka 16A

22 2.62.01.009800 TpyOKa rutactukoBas (24*170
23 2.56.02.000400 BUJIKa 32A
24 2.56.02.000600 BUJIKA




